Quiz 16
November 2, 2016

Show all work and circle your final answer.
1. Let f(z) = —z® — 32% — 3z + 9. Find the following:

(a) The open intervals on which f is increasing
(b) The open intervals on which f is decreasing
(c) The coordinates of any relative maximums

(d) The coordinates of any relative minimums
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2. Suppose ¢g'(z) = ze®. Find the following;

(a) The open intervals on which g is increasing

(b) The open intervals on which g is decreasing

(c) The z-value of any relative maximums

(d) The z-value of any relative minimums

(e) The open intervals on which g is concave up
(f) The open intervals on which g is concave down

(g) The z-value of any inflection points
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